690 ENDURO 08 <2008><EU><9703H6>
FRONT FORK, TRIPLE CLAMP
6468

&9

~— __,‘ o -
= e

Re®

Pos Part Number Description Additional Text Quantity
1 14187D11 KTM 690 Enduro '08 1.00
4 0025080353 COLLAR SCREW M8X35 TX 2.00
5 0025080303 HH collar screw M8x30 TX40 1.00
6 0912100356 AH SCREW DIN6912-M10X35 10.9 2.00
7 0025080406 HH COLLAR SCREW M8X40 TX40 8.00
8 0025080256 HH collar screw M8x25 8.00
32 7650103102301S BOT.TRIPLE CLAMP 22-24 OFFSET 1.00
33 76501033000 FORK TUBE L=237MM 08 1.00
34 7650103402301 TRIPLE CLAMP TOP 22-24 ADJ. 1.00
38 59401038000 HANDLEBAR CLAMP 28MM 05 2.00
39 59401039042 Handlebar mount D28mm-H42mm 2.00
40 54801036000 STEER.HEAD SCREW M20X1,5 WS=27 1.00




41 54801036100 STE.HEAD SCR. M20X1,5 WS=27 SL SELF-LOCKING 1.00
81 54201081100 TAPERED ROLLER BEARING CPL. 06 2.00
82 54601084100 O-RING SUPPORT W. SEALING LIP 1.00
84 54601184000 STEARING HEAD GASKET TOP 1.00
86 54201086000 STEERING HEAD COVER 1.00
90 0017060204 EJOT PT SCREW K60X20 ALU WS=6 SX 2.00
91 59001092050 SPECIAL SCREW M6X12,5 WS=8 6.00
92 7800109410004 FORK PROTECTION LE+RI ORA.08 1.00
93 7800108500004 CLAMP FOR SPEED CABLE D=6MM 08 1.00
94 0934080003 Hexagon nut DIN934 M8 2.00
99 00050000930 STEARING HEAD REP. KIT 06-15 0.00




